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PROVISIONAL ANSWER KEY

Paper:
Date of Test
Question1:-AICPA stands for :
AICPA @rdmonossan :
A:-American Institute of Certified Public Accountants
@REaElEM @(vﬁq};’l%g“ 6908 MUAZIOOa0MS aleRfles @REEDERAMY
B:-American Institute of Certified Public and Private Accounts

17-11-2023

@neadlenm MRS’ 6oad MBSO alplle; @R OeEJAIG RO DENEE:UD

C:-American and Indian Certified Public Accounts
o3, eamymd MLABIEean al6plles @REEDINHUD
D:-American Institute of Certified Public Accountancy
@oeadlenm MRS’ 6o Mudgleeanl alplle; oedeRMS
Correct Answer:- Option-A
Question2:-
one place.

a v

9\

107 - Elements of Commercial Accounts Book Keeping KSEBL

is concerned with the systematic analysis of recorded data with a view to bring transactions or entries of similar nature to

DSalogHUD @REGEIT TLAIM MVIRIAIYSS afMSIEB

A:-Recording
©0CEIBWIowY

B:-Classifying
Qdyleeeme

C:-Summarising
Mo(@aDo

D:-Analysis and Interpretations
allledaimaje QieIPMEEBES.

Correct Answer:- Option-B
Question3:- is also known as a position statement.

6@ ©aMlYUM (@MPIAUM af)Mo ERAIWE 5.

A:-Profit and Loss Account
210BMaY GREEHDEITE’

B:-Trading Account
esWlot) @REEDENE

C:-Income and Expenditure Account
QIEAS 6218107 @PREOEVENE

D:-Balance Sheet
eruoaImBay’ caflg’

Correct Answer:- Option-D
Question4:-"Stock of goods" is an example of :
" aleERBges G agoildeo ©eonEeMEENY !

A:-Fixed Asset
adlgyow’ @omug’

B:-Intangible Asset
eoadsomdedleniled @oaug

C:-Current Asset
mleifleoe @raug

D:-Fluctuating Asset
nﬂa;‘mécmg’lse‘rz' @pmug’

Correct Answer:- Option-C

ag)m e )9S H0CEIBUY HalR WIS allgwo alledaIMQ@OW IMWea|sIdlEsme.

Question5:-Which among the following Accounting Standard deals with Accounting for Government Grants?
waemead @ang:e,u%ase@g @REEVETEPM0W] MM @REEDENELUT TROMBEWARS a@@®o6N?

A:-10
10

B:-11
11

C:-12
12

D:-13
13

Correct Answer:- Option-C
Question6:-The difference between Sales and Cost of goods sold is
alle mowmemBges all@ajm @& dldezosm/anablo ©6 colags APV
A:-Net Profit
(GTOQOGOG))a
B:-Gross Profit
[l N=Te]cE
C:-Purchase
QI06BRMD
D:-Opening Stock
@REEOTOR! GTYILE
Correct Answer:- Option-B

@Rerm.

Question7:-If Sales Return account is closed by transferring its balance to Sales account, the Journal entry will be,
oM@y dlegend @REEVETE @RGIMOO FIoRIBMY dMEIGBMY @oeERDeEsaIE oM@ smtgsmmsn;‘ GHOMY ©2IQOTR, BN af)BS] D®IVE| R0

A:-Sales Return Account Dr
To Sales Account
omuI@ay dlegem @oesnoeng Dr
To em@@ay’ @ree e
B:-Sales Account Dr
To Sales Return Account
oL@ @ee e Dr
To emual@my clegend @re DN
C:-Bank Account Dr
To Sales Return Account
N0’ @eeEeng Dr
To emual@my dlegend @Re DM
D:-Sales Account Dr
To Bank Account
eml@dmy @eeeroet Dr
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TO enioe @Re DT
Correct Answer:- Option-B
Question8:-Liability on account of forward exchange contracts is an example of
€a00@EAIW af)@Bal6Tal BEIQHEOS @ROEVENEOR! ENUIWY® aRTIMBOO OBOANBEMAET
A:-Current Liability
aleiallear srowye
B:-Long - term Liability
Aldcaimonl 0w
C:-Contingent Liability
ARHTYISHID FNIIWYD
D:-None of these
@m@mmmamgg
Correct Answer:- Option-C
Question9:-Amounts received during the course of trading operations are called
esalouy @UBCOMEBRESS TR 2IEEB DHGHO8 agom’ ailglasmo.
A:-Capital receipt
Qeiwm emiloy
B:-Revenue Receipt
oaimy mloy
C:-Deferred Receipt
20¢loaly) emiloy
D:-Both 1 and 2
192 o0

Correct Answer:- Option-B

Question10:-The person to whom the goods are sent for sale on commission basis is called

&fladd @slraoMEmIEd ruowWmMEEBRU3 Alladenom @PW 5 QlETIOW agan’ flglesmo.
A:-Consignor
HHEMOOTVMA
B:-Consignment
HEMEOOTVEAMR
C:-Consignee
SOOI
D:-None of these
@ma@omm%
Correct Answer:- Option-C
Question11:-To the consignor, the consignment of goods is known as :
.e,tmgmmﬂ £21QIMWIBE), 2IOEBHSOS HEMEOTOHAR Ol joQM®IW] ErGlegMD
A:-Outward Consignment
AJOCOOERSS HEMBOSTVOHANT
B:-Inward Consignment
epmdedouy’
C:-Both 1 and 2
102 g0
D:-Repossession Consignment
@lEl65)580@8 BemesTLMend
Correct Answer:- Option-A
Question12:-Invoice price is also known as Price.
spadeniomy afler allel e @RAIWegM.
A:-Loaded or Inflated
caIoW @ReYBIT meagony
B:-Unloaded or Deflated
@Ml @RERIENIES (leaggouy
C:-Unloaded or Inflated
@RENBERII’ @REQYEHI EMBGago’
D:-Loaded or Deflated
6l @REQIEITS (Wleaggouy
Correct Answer:- Option-A

http://192.168.1.6/dept/modules/marklist/answe...

Question13:-Which among the following formula/equation is applicable for the valuation of stock, when there is a normal loss?

G TLOWOREM Moo DEMNBIGEMIOD, MO EnndAGEY TVANNEIEEEIM oG®OET EIRIEIOMR FRIMIBERWEDINY oW ?
A:-((Total cost of goods sent + Nonrecurring expense) /Net Quantity)* Quantity in sale

((@rwa MUOWMEIRESS EROS aflel + EYAURC T eaieial) /omg’ @oemdd)* allomyes @ogal

B:-((Total cost of goods sent + Recurring expense) /Gross Quantity) * Quantity in sale

((@pway mowmemges @res allel + @padoL® earial)/ewomy e * aldqymalyes @rgar

C:-((Total cost of goods purchased + Recurring expense) /Net Quantity)* Quantity in sale

((cosedl muawmemges @res allel + @rmIBEM earial)/ emg demdd)* alaamaiaes ersal
2 8 @ o

D:-((Total cost of goods sent + Nonrecurring expense) /Gross Quantity)* Quantity in sale

((@rwa4 mowmenges ares: aller + ermoadosyes earial) /ewomy eoemEd)* aldqmyes @egal
Correct Answer:- Option-A

Question14:-A system of accounting which aims to distribute the cost or other basic value of tangible asset over the estimated useful life of the

asset is called?

@RMLFIMBOO BHEMEIHID Dale@ow (Jeaow salmaviasdig. gdaqes @paudled allaiewo ag @rslmunom ganend al®moeme &I AIBMEISM BB GREEDEMTIUI MlwWIMeTD

allglesme?
A:-Branch Accounting
@6 @REEDENEloUY
B:-Amalgamated Accounting
@RAOWUNEAYAY @ROEDEElUY
C:-Appreciation Accounting
@pElrleam @ReEDeNEouY
D:-Depreciation Accounting
Wlaflrdleaum @oeEDeEleuy
Correct Answer:- Option-D
Question15:-Which among the following capital profit usually kept as capital reserve?
Taj0QINAIRIEE GRIbMm A10Ee MVIWIEEMWIW FRIWM GHEBDTD UEIEAIW MYEleRM®Y BD?
A:-Profit on sale of fixed asset
mudle @pmylges alldqymola mimees enee
B:-Profit on re issue of forfeited shares
SEOBIIQ B0a0G1S:08 allege oy ©21QEMIOWE oG
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C:-Premium received on issue of shares
OaHQQBUD Doy 6.a1Qemud eIl @ldlw.
D:-All of these
2sleToNJT
Correct Answer:- Option-D
Question16:-Which among the following Accounting Standard (AS) deals with the retirement benefits / termination benefits of employees?
0o @ReE: DMLY qomdeanday (AS) agoosm sflamepomes aledlen@ @T@«a@;gm&muﬂ / afldlgjalls@d @R oLeLERW He®@:00%0 emu@«n:m'?
A-AS-10
ag) agyry’ - 10
B:-AS-14
af) agy - 14
C:-AS-16
ag) ey - 16
D:-AS-15
ag) ey - 15
Correct Answer:- Option-D
Question17:-The extra commission offered by the Consignor to the consignee for guaranteeing the entire amount of sales effected on consignment
is called?
2108 QlEBERMWOWB 2IRHIEMEE 6.218jTDaN AlBNQES FLAUMD DBQ0 VPEM MBBMGIM e MLle:ElERM@WBE M@BEM @oUwld: daflaem alglesmo?
A:-Overriding Commission
80Q136:60WI6ERE" @eaflaumd
B:-Delcredere Commission
HWDOBWA B>aflosd
C:-Advance Commission
@AM B>enflasid
D:-Over loaded Commission
8003 el &odflaumd
Correct Answer:- Option-B
Question18:-Which among the following is not included in the category of Current Asset?
@lajoQnaRled agmosny dleialear @pavdlod alconomilod oueasoom?
A:-Bills Receivable
aiclesnns snﬂgda:uﬁ
B:-Closing Stock
GOl GYOBS
C:-Debtors
HHSEHIB
D:-Furniture
andemlad
Correct Answer:- Option-D
Question19:-Which among the following is an example of Deferred Revenue Expenditure?
mlajomaeilcd agmoeny aogleaia) oaimy 21010l ©BIa0EEM.?
A:-Amount spent for the acquisition of Land and building
muoei)e OBSISQk ageQgERMTIM eaeiaidlal @
B:-Salary paid
PMIBo NWHQ D&
C:-Cost of shifting business to a more advantageous location
SO (JEWIWMIBRIW MuOLICOmE snmilmmy’ mogn’nmﬂmg@ ealolal
D:-Amount spent for the acquisition of Plant and Machinery
WORe 62l dlQle TUMIElEBM@IM O.alrIS]y| D&
Correct Answer:- Option-C
Question20:-If a transaction requires more than one account to be debited or more than one account to be credited, it is known as
B DSalsIay Bl @O EPOGVIMEEW HAWMIY 6.21Q0eMmd BaTRIWlE:. EREGDEMEBW HEGMIY ©.21QIEMI HIQETNO ERIRYOETESITE, GO agMl@eajgme
A:-Simple journal
loallid emem@d
B:-Compound journal
GB006)alDEME GLEMNT
C:-Complex journal
CDoq s’ GREM@
D:-Special journal
TG CREMDS
Correct Answer:- Option-B
Question21:-Consider the following statement. Choose the most appropriate answer.
Cash book is both a journal and a Ledger
Ml OQMM JTRIAUD alRINEMIERS. aBQQYe ERMEWIVINIW OME: TIRETOFERS:. B MY GG CRAME HRIWRQe @M
A:-True
woElosm
B:-False
omg
C:-Partially True and Partially false
@oUB:000 AEIQY. RIUIG:a0W 6OQ0
D:-Can't say
alo@ond &¢¥lafle
Correct Answer:- Option-A
Question22:-Which among the following statement is not true about Trial balance?
s nioaIdmilemesdlal Mo MmaImeglad wdlwel?
A:-It is not an account. It is only a statement of accounts.
DOO@IT GREOEHVETRL]. DO BT HEMES) (JTYIQUD M@AI6EM.
B:-It is not a part of Final Accounts
OO @RTIA GREEBIERHSOS RONAGY
C:-It is a statement of debit and credit balances
DY O], HGWIG MLIBIYGEHS 6@ @JTROUNIETY
D:-It opens with an opening balance and ends with a closing balance
OO B BqFMlu’ MIRIMBETVIOS DOBRHQ BB GHITluT FIORIBEMIIOS @OAIMLIMIERH:Qo £.21Qm0
Correct Answer:- Option-D

Question23:-Section of the Companies Act 2013, prescribes the forms and contents of Balance sheet and Profit and Loss Account of a
company.
Sy @og 2013-e0 Qdaf, 8@ HNUTQSS IR ldloMe £10EMY CROBVEEIDDQ Gn0IPHSe PEBSEBG. MIBEGUDlERMD.
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A:-129
129

B:-181
181

C:-215
215

D:-319
319

Correct Answer:- Option-A
Question24:-IASB stand for :
IASB ag@ilom @@flandlasan

A:-International Assurance Standard Board

ORABMoUN@3 «md.uéoaﬁm}' qyoadeawdal’ esniodau’

B:-International Accounting Standard Board

EOBMIUEM@B EROEHVEMEUY TRIMEWB’ GenIo@aw’
C:-International Auditing Standard Board
BAMoaueM@ Bowldlou’ quomeanda’ eenioday’
D:-Indian Auditing Standard Board
oamym so0wlglouy’ qRomerwdn’ esroday
Correct Answer:- Option-B

Question25:-Share of a company can be issued at
)M @@d DA%y 6)21Q0o.

8@ HNUMIQYOS B0a0C
A:-Discount
@ldlar
B:-Par
@Re®aleil@d
C:-Premium
@Jldlo
D:-Any of the above
ABHE® alosDAU® RO Bl
Correct Answer:- Option-D

http://192.168.1.6/dept/modules/marklist/answe...

Question26:-When a transaction is not entered in the books of original entry or not posted from the books of original entry to the ledger, this kind of

errors are called

&JIEM@ afBSIQOS JTPHEREIT B DSaIS RIS

0

o

WH)

g allglesao

o lejes ol
A:-Errors of Commission
Sofladmlenl allws:eud
B:-Compensatory Errors
S:0Q@BEOQYM aflvoddud
C:-Errors of Omissions
8610820865 alltd:dud
D:-None of these
@m@mmmamgg
Correct Answer:- Option-C

0113 BOlElM@ aMElmes orymeEglcd mlm’ eeiuwEclealds Gamy £.aQIMIRlER®EI 6.a1gemud,

Question27:-Which among the following accounting system uses Double Entry System?
©269aJ0QIMAIRIEB a@@oeny awenilud agds] milaye PalEOUlERM @REEDEMELY Milqye?

A:-Management Accounting
206D

B:-Cost Accounting
GO’

C:-Financial Accounting
aflmoMBaHy@ @REEDEEuY

D:-Human Resource Accounting aogad dlemuog @pessosmluy

Correct Answer:- Option-C

Question28:-Which Accounting Concept restrict a business concern for showing human resource into the Balance sheet?
enioaidy adlidlad aomar alleaiewondll @oenlesamaimas snllnflmqy munoaimeslem MloElesmm ey’ @RUW. a@®IEm?

A:-Accrual Concept
@OGAIB @RUEDo

B:-Separate Entity Concept
@Oy @I @R.

C:-Going Concern Concept
@ROUWEE T @RYUOWo

D:-Money Measurement Concept
aléMo @RSEBM @RYUEWo

Correct Answer:- Option-D
Question29:-In an accounting equation :
B0 GROBIENEU) MANIIBLOIGS

A:-Equity and assets are dependent variable

oaiglgo @OIVQEZo @RWI® cadlwenigoem’

B:-Assets and liabilities are dependent variable

@RIlege MW ERWIIO cardlwenigosm

C:-Equity and Liabilities are dependent variable

DGR MIWOG:E. GRWI® caclweigosm’

D:-Assets and liabilities are independent variable

@RIlEgSe IOWIOE:Se TG eaidl@enigosm
Correct Answer:- Option-D
Question30:-

QUYPEEDIE TVOWMEBENS HEGWIY QEREYRIW MIMWES BDSalOgEHUD

A:-Sales Day Book
OV W 6Ny’

B:-Sales Return Book
oM@ Slegend enyes

C:-Purchase Day Book
al@E.4)V’ oW enyds

D:-Purchase Return Book
al@eoiV’ Slegend enjes)

Correct Answer:- Option-C

record the transactions relating to the credit purchase of goods in trade.

CEEUOFID H
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Question31:-A Government Grant received by a company results in
8@ &MMlE aIdlesm mudend Wog @ adllo MBB:M0.
A:-Increase in Asset
@pmudl@d aidrbmar
B:-Increase in Liability
DWW aideLMAr
C:-Increase in Assets and equity
armyloiel. oaiidlollaje aidrumal
D:-Decrease in Assets
eRMleglad @:oal
Correct Answer:- Option-C
Question32:-In straight - line method of charging depreciation, the depreciation
RelOmBA4) 210386 AYMOIMES EOMVY 6eeimB dlvlulcd gayomeadal
A:-Increase in each year
630600 QIBaHe IdaUlesM
B:-Decrease in each year
630600 QIBaHOJo BOQYMD
C:-Remains Constant
audleacd mlaimladesmm
D:-None of these
@mem}omamgg
Correct Answer:- Option-C
Question33:-A provision is
8@ 6aJoallaum
A:-A liability of uncertain amount
@RMIRIO®IRSE DHQSS ENIOWD
B:-A liability of uncertain timing
@p@lualo@al TUAQEBIMBOO ERIOWD®
C:-A liability of certain timing and amount
oo MEEOTIMBE0R. DEBQOSWQ EIOWD
D:-A liability of uncertain timing and amount
@pmlvailme:0a MRQOBIMBEOOQ. DEHQOSWQ WD
Correct Answer:- Option-D
Question34:-The Negotiable Instrument Act, 1881 covers type of instruments.
emendaeniicd eodmyeady o, 1881 ©eOTla)es coaI®Ud UBEEISSD.
A:-One
(=0
B:-Two
@61E’
C:-Three
qan’
D:-Four
moal
Correct Answer:- Option-C
Question35:-The capital that is being offered to the public for subscription is called
aognimyflalasie S BT Oalo@RMEEBUES AOUOM. £.21QN RIWMEOOD agom’ allglesmmo.
A:-Called up Capital
BB @Rl Bydaflodd
B:-Issued Capital
M@ alwme
C:-Authorised Capital
@RIl Qaibme
D:-Subscribed Capital
aueNIeeIYsNI 6.21Q FRIWMs
Correct Answer:- Option-B
Question36:-Which among the following is/are not included in the category of Intangible asset?
®269a]0QIMAVIE BT EBHEWIR @MFle alleonamicd 2uBeqsIT®?
A:-Goodwill
wailod
B:-Computer Software
BHMUSB EILIOQIOA
C:-Brands / Trademark
EOMBBUB /8SIBES
D:-None of these
SOAIOHWINRALY
Correct Answer:- Option-D
Question37:-Accruals are recorded in the books of accounts through a entry.
a)BS] EEUM ERGUE)HUB EROBDENE YMBMBEIG CEAIOFEDMo.
A:-Opening entry
@)@ af)BS]
B:-Closing entry
GOl ag)BS]
C:-Both 1 and 2
1902 oo
D:-Adjustment entry
@RUWBYea®R aade]
Correct Answer:- Option-D
Question38:-If income received in advance appears inside the trial balance, it is shown only as a
s idla ABAIM. @ cILIBIIMSSIT3 GUoyRIE:BWINEMEBIB, @M @R 20@ED BHoemIEs.
A:-Asset
@RIVg
B:-Liability
ETUOWN®
C:-Both 1 and 2
1902 0o
D:-Neither 1 nor 2
1 20 2 9. @ogy
Correct Answer:- Option-B
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Question39:-Which accounting concept treats a firm as "Continuing one for long"?
AB® GREEVEMTELU) @RYUR@AGT GG TLNIAIMEED " dldeais:0e10] MMM agam GEMEIERM®?
A:-Accounting Entity Concept
@ROBVETELY af)FOIG] SemBemualy’
B:-Money Measurement Concept
26 H2UBOARY MOV
C:-Accounting Period Concept
@OOEDEEU) BIRIVsal
D:-Going Concern Concept
6U1OloUY BEMEIVEN Bermbemualy’
Correct Answer:- Option-D
Question40:-The liability of the parties in a joint venture is
BT MVQYEDm M 3l lleges enowym @6y,
A:-Limited
efldigauy
B:-Unlimited
@rendalalgay’
C:-Partially limited and Partially unlimited
cUlEa00f aldldlm) @UWle:200] aldlwlaligpcm@acsm’
D:-None of these
@mem}omamgg
Correct Answer:- Option-A
Question41:-The surplus or deficit of Income and Expenditure Account is debited to
QIERAT ®.21010] @REEVENTEIMO alaicad Gorfled el eowenily’ 6.21Q)M0.
A:-Reserve fund
m'lfesﬂmﬂmznd an6re’
B:-Depreciation fund
QOO 5] aneng’
C:-Capital fund

QEIWMm aneng

D:-All of these
fsleToLJET

Correct Answer:- Option-C
Question42:-Under method, depreciation is charged at a fixed percentage on the reducing balance of the assets.
8@ wlualo oMo Aloles SIFl@d @OTVOBPOS SHOQAD snuoaidmilad e dlunio womaoMOBIe eITmE:A.4] DDSIERMT.

A:-Fixed or Equal Installment Method
adlgow’ @regEled @ealy enadqyoudean ol
B:-Diminishing Balance Method
awldlorflasflovy entoaicdmy’ @l
C:-Machine Hour Rate Method
o3 aemilgsd mloss Aol
D:-Mileage Method
eencelsd Al
Correct Answer:- Option-B
Question43:-Which among the following is / are not included in the characteristics of a company?
OlooQMARIT3 ag@Iey 8@ SMITIQes qLIRIAINICWRUG S!S gu%e«ggmoﬂmﬂﬁ%?
A:-A company has a separate legal entity apart from its owners
8@ HMUMIE EROIMBE0 DSABGUIES AJOOD BB (E®YE MIAAIEAIW TVAdAIMPEE
B:-A company is not a natural person
8@ HMIM 8@ qLEIIS BTy
C:-The annual audit of accounts of a company is compulsory
8@ HNTIQES EROLVIBHEOS AdBald: sorwly M@snumuwadey
D:-The personal property of the shareholder of a company is liable for the debts of the company.
8@ HNUMQOS HUWBEANIBALROS AUSTIN® VIO HMIMIQYSS HSEBRUBES IOWKTVLOAIET
Correct Answer:- Option-D

Question44:-The reserve capital provides an additional security to the of the company.
BB PRIDMoe BNIMIQeS @ @RWlE TYOBUQJ MBE:MD.

A:-Creditors
Se MMAID

B:-Debtors

BSo OBIFED TBELHENRQIB
C:-Both 1 and 2

1920
D:-None of these
SOAIOHWINRALY
Correct Answer:- Option-A
Question45:-" is a science as well as art of correctly recording business transactions that result in transfer of money or money's
worth".

MY aleMERd aleMOTIOMR GElend OO®RGe Oalgm ilmimy esaogH:ud AWV GEAIPFTDMTIMPEE B WITYQJ GHRIYAIT"
A:-Accounting
@ROEDENElUY
B:-Double entry
DES (@JBQIM.
C:-Book-keeping
s’ Blafloty’
D:-None of these
@mammmam%
Correct Answer:- Option-C
Question46:-The expenditure incurred for the purpose of acquiring a fixed assets which is intended to be used over long term for earning profit there
from is called
Aldeeisoaioslmnomemsied @eailed mlan’ enee qumElerom pegulaliges e aude @yl emgmola curmElges eaeialom agom’ ailglasmo.
A:-Revenue Expenditure
oQimy .ol
B:-Capital expenditure
QaIwm ealelaf
C:-Deferred Revenue expenditure
20¢loqi) oaimy .ol
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D:-None of these
@mammmamg—;g
Correct Answer:- Option-B
Question47:- accounts are related to expenses or losses and incomes and gains.
@REOEVEIBHUB ©2IRIQ)B D CREYBIT MaysBRUd, QAITBIM., EMFEBRU afMIIQRD] cIMLESIElERMD.
A:-Real
docd
B:-Personal
Gal@muem@d
C:-Nominal
emoaln@d
D:-None of these
@m@m}omamgg
Correct Answer:- Option-C
Question48:-Which among the following is/are a current liability?
DMlaj0QIMAIRIEE a@@IENT QBGOSR OW®?
A:-Bank overdraft
N0 630QIBEWI0G
B:-Long term loan
dldcaismon QY
C:-Debenture
BSaf@o
D:-All of these
DAUOWEJI0
Correct Answer:- Option-A
Question49:-According to section 2(84) of the Companies Act, 2013, Means" share in the share capital of a company and includes stock"
2013-0a1 @iy eoglod eauenmd 2(84) w@ooe, @AM 8@ BNITIQReS §a0E! GAILMEDIeal BIn0GEIR GHRIER. DUBOIgIT"
A:-Debenture
&Saj@o
B:-Bond
G6NIO6NE
C:-Masala Bond
dVoal GeNIdeE
D:-Share
60006
Correct Answer:- Option-D
Question50:-Final Account of company consists of :
HNMQReS @RTI2 EREEVENET DA udagMo
A:-Balance sheet at the end of the accounting period
@RE®VETELU &oaia0le @oaImIMODEd snioaimBmy’ cullg
B:-Profit and Loss account at the end of the accounting period
@REOBVETELY B00@s0leM ERAIMIMOTITS LI0EMY EREOEVENE
C:-Receipt and Payment account, Trading account at the end of the accounting period
M), caOQM @OV, eSUly) EROEVNE, EROEVENELUS :01EAlMBE0 ERAIMOMOTIE
D:-Balance sheet at the end of the accounting period and Profit and Loss account for that Period.
@REOBVETELYY B0eIsleM @RAIMIMEED eIdeIdmy nsﬂgo @R $21E0leal LIEMY EREOEDEMGe
Correct Answer:- Option-D
Question51:-Statement of Profit and Loss account of a company is prepared according to Part Il of schedule of the Companies Act, 2013.
& eog, 2013 o eauwFlBeo @ovo Il ermeaElel 6@ GMITges 20EMY ERE®VENESM @JTRIUM OQIOISIWIZHTE.
A:-Schedule Il
Sawy@ 1l
B:-Schedule IV
OaHLEd \Y)
C:-Schedule 11l
Sawy® 1]
D:-Schedule V
LG \
Correct Answer:- Option-C
Question52:-GAAP stands for :
GAAP @rdmoaossmo :
A:-Generally Accepted Accounting Principle
2modell @R @ReEDETELYY @ladmilaflud
B:-Generally Accepted Auditing principle
2momdel @rgagW soawldley fldmilaflud
C:-Generally Accepted Accounting and Auditing principle
2momdell @rEQW @ReEHDETELY @R Boalldluy @lladmilaflud
D:-Generally Accepted Auditor's principle
2momdel @rEgW soaullgmy’ efldmilaflud
Correct Answer:- Option-A
Question53:-A fixed rate of dividend is paid on :
e dluailo dlees awlallawd M@de:may agamom?
A:-Long term loans
Aldcaisoal aQe:ud
B:-Debentures
BSaf©@6BU3
C:-Equity shares
oaldl O3
D:-Preference shares
QABUNEMMI BIaN@| B
Correct Answer:- Option-D
Question54:-A purchase of Rs. 1,000/ is recorded as a purchase of Rs. 10,000/- this type of errors is called
1,000/- @oiqges awesned, 10,000/- @aiges ananene seaieqgoniigens. e fleyes ol agm’ allglenamo.
A:-Errors of omission
adlanmealeon alwee.ud
B:-Errors of Commission
S02cuOR allvoddud
C:-Compensating Errors
al@lan@l@®M aflodd:ud
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D:-Errors of Principle
OOIoBIee! allod:dud
Correct Answer:- Option-B
Question55:-Capital redemption reserve and securities premium received in cash are available only for the issue of
Baflg@d Slawealeud dlarudaye alsmao®ll eIyl @ﬂuﬁé&ﬂg’l il Qnﬂ%ﬂ.ﬂ(‘ﬂv DO@ED LIGYAIE:
A:-Fully paid equity shares
oJBeR20W almas.4f &Idl Ba0EIE:u8
B:-Fully paid preference shares
oJ@ERROW alEMRS 4J88 AWM BIAOEIBUY
C:-Fully paid bonus shares
aJBEM@OQe A IEMAS 5] GENIIEMAY HAHUWQHUB
D:-All of these
fasloole=Ties
Correct Answer:- Option-C
Question56:-If the consignee is not paid any delcredere commission, the entire amount of bad debts is to be borne by the
210&5) QBEM@IVBE noE:Iaje d:umilasind MESITleg)El®l, Gl5IHSEREeS FEAUMD DHQ0 QlallEesMo
A:-Consignor
@OW 5| IUB
B:-Consignee
smfemgrmcmaua
C:-Both 1 and 2 equally
1 96 2 9o @eipoal
D:-Neither 1 nor 2
1 90 2 9. @ogy
Correct Answer:- Option-A
Question57:-The period of interval for which account is kept for ascertaining the result of the business during the period is called?
soai@galeal snlmilmmilen anele @RI @ReEDEMG. Mysalsldenm mseagges sawegalom allgkasmo.
A:-Financial period
LIMIOTIE BoeIsql
B:-Accounting period
@ROEDEEU) BORIVsql
C:-Interim period
SsEnol $orIsal
D:-Final period
@RAITVIM BHILIVSAT
Correct Answer:- Option-B
Question58:-Who among the following has a right to vote in the meeting of shareholders?
6:3@B6a00B3WARWeS dIGlouled ©IOLaOQMAUIEIEE @RI GRS HaIQID @RAIBIORSS®?
A:-Preference shareholders
QABUNEMMI BaN@! OSABUD
B:-Debenture holders
BSal© 2SAHUY
C:-Masala bond holders
QTVIR! GENIOENE OSABUY
D:-Equity share holders
ool i@ Ganodowdacd
Correct Answer:- Option-D
Question59:-If royalty is paid based on production, it is debited to the account.
6(JOWSHM @RAIMINIMAIES] COOWMF @RS 2/0@3, @RGY @PROEVEEIGRIES WY ©aIQea)go.
A:-Profit and Loss Account
210EMaY GREOEHDETE
B:-Trading Account
esaloty @ROEDENE
C:-Both 1 and 2
190200
D:-None of the above
HE@D AlOOMAIOWIMB. @8]
Correct Answer:- Option-B
Question60:-Duties and other charges paid on import of goods are debited to the
2IOEBHSOS ool @osgm ﬂn’l(mm@;%a 2q 2108B &S0 cales eawenily’ £.21Q0.
A:-Trading Account
esWlot) @REEDENE
B:-Profit and Loss Account
210BMaY GREOEDETE
C:-Income and Expenditure Account
QIEAS 6218101 @REOEVENE’
D:-Both 1 and 2
102 e
Correct Answer:- Option-A
Question61:-The details of all transactions about assets, income, expenses etc. are recorded in a ledger called
@RIlBU8, AImEIM., HaRIE:Ud @SEEIVAO® GOlySs afld BSaFd:EOSQ0 AllEIUBEBUY )M eaiuRcled c@m@eﬂgmcﬂ%mﬁ.
A:-Personal ledger
QETIN® eelwRd
B:-Impersonal ledger
aeoloiadigpoom eeluisd
C:-Both 1 and 2
1902 0o
D:-Personnel ledger
GaIGLIEM@ HRIWRAE
Correct Answer:- Option-B
Question62:- is the most widely used method of recording business transactions in commercial accounting.
ey @ReEEVIMELUITE milmImmy sa0gH0d EaIONSEDMTIMES aBQQle AUPABRIR] DalcIullesmm dldlwosy
A:-Double entry book-keeping
wenlled agaBS] enyes- wlaflow’’
B:-Single entry book-keeping
oIl afBS] - dlaflouy
C:-Contra entry book-keeping
BHEMSO af)BE] Yss-@lafloy

8 of 13 Friday 17 November 2023 11:54 AM



Home Page

90f13

D:-Triple entry book-keeping
Slafld agBe] enyes-@laflow’’
Correct Answer:- Option-A
Question63:-Which among the following is/are the purpose of depreciation?
DTaj0QMNAIRIEE a@mIEN GRIOmE:A ] HBH0EES D6RWYN?
A:-To find out the cost to be charged to profit and loss account
2I0BMY GREOBDETEICRIES EDVSIELHETE Halelal HEMRELNGIM
B:-To calculate the exact tax liability
SOYNOW WSO EUOWD BEMEIEHID
C:-To replace the asset
@pmug’ aogdlmundalenomd
D:-All of these
fasloole=Ties
Correct Answer:- Option-D
Question64:-Assets that can be easily converted into cash without significant loss in value is called?
$00Y20W Mafo BSIOD af)Bo OB aleM20Es] 2000M &FAQM @R lees allglesmo?
A:-Fixed asset
audle @raug’
B:-Liquid asset
allefol’ @eaug’
C:-Fictitious asset
ME@afle @MY
D:-intangible asset
@RRUOIROD @RIV
Correct Answer:- Option-B
Question65:-Receipt and Payment Account is a account.
M@0 GalOQYM @ROMDETG BT @REEHDENRIE.
A:-Real Account
@ @ReEBDENE
B:-Nominal Account
eModlN@3 @REEDENE
C:-Both 1 and 2
102 g0
D:-Personal Account
QBDIN® @REEDENE
Correct Answer:- Option-A
Question66:-Income and expenditure account is usually prepared by
QIEAT ®.2121QT E&EMED MLIWIREMWIWV MQRYIOIERMMT
A:-Trading concern
sty @OD iy
B:-Non trading concern
QAR GIT IO
C:-Commercial concern
QUOSMIRIEAIQ OBl
D:-None of these
OOMIMDGY
Correct Answer:- Option-B
Question67:-Which among the following is/are the causes of depreciation?
®269a|0QIMNAIVIEE PRIODE:A QS @:ICEMERUD oG@osTH?
A:-Wear and tear
m@u&)omo
B:-Obsolescence
B0LIaDEEMOISE3
C:-Depletion
BGUOIAHEMo
D:-All of these
£DAIOWELJ00
Correct Answer:- Option-D
Question68:-Prepaid Insurance Premium is usually classified under the head of :
@oa1ily’ enm@agygodmy @llelle mowoeEM®IE omlajomm meiowicd @e. @6lsldesme :
A:-Fictitious asset
MIB:@afld @IG
B:-Current asset
BS0MA @oaVg’
C:-Fixed asset
adlgow’ @oaug’
D:-None of these
@ma@omﬁm%
Correct Answer:- Option-B
Question69:-A person who owes money to a business is called

8@ milmimqla’ alemoe @seaqslelesm aysclo agyom’ allglanmo.
A:-Debtor
SR
B:-Investor
mlestaled
C:-Creditor
o@WIAd
D:-All of these
DAIOWEI0e

Correct Answer:- Option-A
Question70:-If sales day book is undercast by Rs. 4000, the rectifying entry is :
el ew myeslm 4000 @Gal B:0Q6MEI® CIBODTB agBS] aG@o6T &
A:-Suspense A/c Dr. 4000 To Sales A/c 4000
avemymmy A/c Dr 4000 To emvaicdmy A/c 4000
B:-Sales A/c Dr. 4000 To Suspense A/c 4000
emaleay A/c Dr 4000 To mueaymdmy ag/msl 4000
C:-Sales A/c Dr. 4000 To Purchase A/c 4000
equaicdamy A/c Dr 4000 To aideqymy A/c 4000
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D:-Purchase A/c Dr. 4000 To Sales A/c 4000
aidegmy A/c Dr 4000 To eavaiadmy A/c 4000
Correct Answer:- Option-A
Question71:-On the basis of Accounting Standard - 2 (AS-2) any stock of goods should be valued at :
@e@DeE.u qRomewdaw - 2 (AS-2) e @oslmunomeniad ogeomesiaj MOLMEBREES GARIESIAY Gale MEBEHENRD ©
A:-Cost price or net realisable value whichever is lower
©a1010f aflel GRELIEIT HATTe INIBBN Gelfe A B0l
B:-Cost price or net realisable value whichever is higher
ea010f afle) EReLIEITE ER0Tm. WINIB®O gale ag@Iey @AM
C:-Cost price or purchase price whichever is lower
afleial afler @regIEIE AR allel ag@oem @:oal
D:-Cost price or purchase price whichever is higher
ea010f afle) @RegEl@ AR aflel agmoe ey
Correct Answer:- Option-A
Question72:- is one which has been sent by one party but not received by the other party before the closing of the books of accounts
AN B DO @OW Do afIMIT EROEDENE FYERBUB ELHIMY OAIQYM@INY Gi' 26Q d:dlEs 2IlEITODo @RS
A:-In transit item
sommilglad oas eomamiaosmy’
B:-Inflated item
200160 @aflal 0Mo
C:-Transit item
somadlg’ eomo
D:-Uninflated item
2000 |BaflE0m Mo
Correct Answer:- Option-C
Question73:-Which one of the following is not classified as inventory in the financial statements?
MLIMNIEBIlE: (@MRIAMEEI® eflajomaie BaeARGIIT] ®E.IEllslpomd agmosm?
A:-Finished goods
3OO TLIWMEBBUD
B:-Raw materials
@RAVP® m«gceaua
C:-Stores and Spares
CIRIQB:So OTRWQBSo
D:-Work-in-Progress
QIRES-EMB-BJoWY
Correct Answer:- Option-C
Question74:-Which among the following account is prepared for calculating net profit?
@RQIGIWo BEMEBIMIM DT OQAD EREOBVEBHEIT ag@I6eTy ©Qo0IH A RlERM@?
A:-Trading Account
esWlot) @REEDENE
B:-Profit and Loss Account
210BMaY GREEHDEITE’
C:-Balance sheet as on a particular date
8@ @eoye clociolen soaidmy alg’
D:-Receipt and Payment Account
@M@ CalOQM @ROHDETo
Correct Answer:- Option-B
Question75:-The difference between the current asset and current liability is
dlealeal @OIOQo dlenieal cIOWOQ. ®edla)Ss QO @6,
A:-Fixed capital
audle gelwme
B:-Working capital
QUBEmM GaIwMo
C:-Reserve capital
HBOT GRIbMo
D:-None of these
SOAIOHWINRALY
Correct Answer:- Option-B
Question76:-Which among the following is not included in the category of Nominal Account?
©@069aJ0QIMARIEB ag@oe emodln®d @reevimEe® aleonoBim PudeasoEm®?
A:-Salary Account
PMIS @REEDDENE
B:-Rent and Rates Account
QSHQJe MlEER BROEVENE
C:-Cash Account
B0t @REOEODENE
D:-Travelling expense account
@I@I Oalelaf GREEHVENE
Correct Answer:- Option-C
Question77:-The discount allowed by the wholesaler to the retailer computed on the list price or invoice price is called?
eflqy afleic@o odeaRWMY allit@o GEMEIESI® allgjo AIPAGIE ERODE slaISEreM @MmAdlesmM @ldlalem allglesmao?
A:-Cash discount
B0 Wloayvers’
B:-Trade discount
ssw’ awlemyoeng
C:-Credit discount
@I allemyoens’
D:-Debit discount
ewsnllg’ cullomyoeng
Correct Answer:- Option-B
Question78:-According to principle or concept, the total asset should be equal to total liabilities.
[OIOT BT @U@ BRMMIE 5], HRITo BRHMY] HRITo FIOWITEHUWBES @lAOIElEneMo.
A:-Dual aspect concept
rwémra’& @ROTYE; HEMOTVAIG
B:-Matching principle
HAIBODOFODT O@lo
C:-Revenue Recognition concept
oaimy 00Ul Eememualy’
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D:-Historical cost concept
2IRl@alead® aflaial &:ememualy
Correct Answer:- Option-A
Question79:-Which country witnessed the origin of modern accounting?
@RRME ERE®DETEU PORAICTIM TVIBHUe Qlaila) EIBY0?
A:-India
vy
B:-UK
QOB
C:-ltaly
eogell
D:-Greece
v
Correct Answer:- Option-C
Question80:-Depreciation account is a account.
QRO 5| CROEDVEIE @REEDENRIEIT.
A:-Real account
Al @reEETE
B:-Personal account
GaLETM@3 @REEVENE
C:-Nominal account
emozln@d @6 EVETE

D:-All of these
DAUOWEJI0

Correct Answer:- Option-C
Question81:-Loss by fire is credited to account during the preparation of final accounts.
£6a0M@3 BROEHVENFHUY MRIOIERAN TLAVOET | YIRS Mao @REOBVETEICLIE OGWIY HaIQOalgme.

A:-Trading account
esWlot) @REEDENE
B:-Profit and Loss account
210EMaY GREOEHDETE
C:-Balance sheet
sruoaImBay caflg’
D:-Receipt and Payment account
M@0 GalOQM @ROHDETo
Correct Answer:- Option-A
Question82:-Interest on drawings is added to
c@omﬂag@:ges alefle agMmolealss ¢aldED
A:-Capital
QeIMo
B:-Drawings
[V SHIENT)
C:-Surplus
oflgjo
D:-Deficit
@il
Correct Answer:- Option-B
Question83:-The amount collected by issuing shares at premium should be transferred to
JQEBIEE HHVQBUB oy ©21Q EWAIBERM Db calgs SOMMYA@ 6).21Q6Mo
A:-The Securities discount account
s)m)ﬁ:édlg’lmi‘ AWOMYVENE @ROHDETE
B:-The Securities premium account
s)(r\)fe,éaﬂglm:“ o @ReEDVETE
C:-Sweet equity account
aullg’ oG] e w0
D:-Share forfeiture account
OHUWA GanBadlald @ReEDENTE
Correct Answer:- Option-B
Question84:-Which section of the Companies (Amendment) Act, 1999, allowing issue of sweet equity shares to employees and directors of a
company?
8@ GnirlRes Gamneodas. WOGERAER. MllY el Fuwesu Grmadasm enidleges (eesnd) doacsieal ago aivqoe, 19997
A:-Section 79(A)
@] 79(ap)
B:-Section 89(A)
Qda] 89(ag)
C:-Section 99(A)
a@a] 99(ap)
D:-None of these
@mammmamgg
Correct Answer:- Option-A
Question85:-Equity shareholders have the right to receive from the company.
aldl 39006 9sas:W3Es emnimlied allan’ LNl @OAIBIURRETE.
A:-Dividend
210eAfa0lme
B:-Commission
&oflaud
C:-Interest
alefle
D:-All of these
DAUOWRIe
Correct Answer:- Option-A
Question86:-Mr. Jean starts a business with a capital of Rs. 1 lakh. The obligation of the business to repay the amount received from Mr. Jean is
limited to Rs.
2lqyd Hld 6@ lvte @Gl RILMETI® 8@ mimimqy ERe.Elesm. dlqyd Elmled mlan aidly @6 Cl@lysgomegs mimimmildec enowy (@aloe]
aldldlmenjgooiaieclesamo.
A:-Zero
S
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B:-2 lakh
2 eibio
C:-1 lakh
1 eiesio
D:-None of these
@mammmamgg
Correct Answer:- Option-C
Question87:-One of the basic accounting rule is "Debit the receiver, Credit the giver", This rule applies to
@osln0om @ReEVEELUY QEaEl® am " mulle:domoalal’ saenly aigs, M@EM@IeE dGWIY Oags” oo alwa. ¥ EnI0WE0eM
A:-Personal account
CalREM@ @OOBDENE
B:-Nominal account
eMadlN@d @REEDENE
C:-Real account
@ @ROEDETE
D:-None of these
@m@m}omamgg
Correct Answer:- Option-A
Question88:-Fixed asset of a business is Rs. 2,00,000 : Current asset are Rs. 1,00,000: Capital and Long term liabilities are Rs. 1,00,000, then the
Current liabilities will be?
a@ enilmdmmimieo audle @amyl 2,00,000 @aige: melea @pmyl 1,00,000 @Gaigo: gaiwmaye dideaisoer suowiodge 1,00,000 @i, @reapd dlenioar suowimewd
ag@ofl@lER0?
A:-1,50,000
1,50,000
B:-50,000
50,000
C:-2,50,000
2,50,000
D:-2,00,000
2,00,000
Correct Answer:- Option-D
Question89:-Loss on Joint venture is ;
VB MVEROTOM Moo aG@IETY
A:-Credited to Profit and loss account
210BMY GREMVETEICAIE O 62IQ
B:-Credited to capital account
RRILM @REEVEECRIS HGSWIG 0.21Q
C:-Debited and credited to suspense account
MUOTYMBM @ROHDEEIEIE HAWNIY ©2QYBQP OGWIF OGS HaIYTD
D:-Debited to co-venturer's capital account
MVAD-TVeRGEOM FRIWM @OEOEVENEIGIE OWENIY 6.21Q
Correct Answer:- Option-D
Question90:-The word 'Credit' has been derived from the Latin word 'Credere, 'which means
'o@WIG" agom o 210GIM IB00® 'O@ewad’ agmaiad mlamosm smeridlitnd), @edlead @AM
A:-To give
M@0
B:-To owe
S0 OBIFEHIMD
C:-To believe
aflwnailesoand
D:-To relieve
@RUBIOMo MNEIBIMB
Correct Answer:- Option-C
Question91:-Purchase of Government Bonds for cash would lead to
MUABEIB ECENUOETRMUB aleM@OW QUBRIM® celes MWilEso.
A:-Decrease in total asset
62000 @M@ G0l
B:-No change in total asset
6200 @M aogaley
C:-Increase in total asset
62000 @Ml aidrLMAT
D:-Increase in total liabilities
©R0OMo EIWIOGSI AIdRLMAT
Correct Answer:- Option-B
Question92:-Which among the following book(s) of accounts is/are compulsory maintained by a Company?
©@069aJ0QINAURIEB aB®IET @oEEDNEeR B @M MldenIMwaQe al@laoelesma?
A:-Journal
G|EM @D
B:-Ledger and cash book
OLIWERQo dY0nd Yo
C:-Purchase and Sales book
eseje Al@ajmae enjesRe
D:-All of these
DAUOWLRIo
Correct Answer:- Option-D
Question93:-Right shares are the shares offered to the of a company.
8@ HMUMIQes a¥ @SN BINBBHENT BRBAO®O]S BIADGIEB.
A:-Existing Equity share holders
mleiflejes &gl 80006 Dsad W
B:-Existing Preference share holders
mlelallees gadwemmo 8a06] Osae:ud
C:-Existing Debenture holders
mleifle)gs #Sq|@ 2sadud
D:-General public
©alo®RMEBBU3
Correct Answer:- Option-A
Question94:-Interest on capital is a/an for the business.
aiwmasle® aellwe miminmilnes e @6y,
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A:-Asset
@Iy’

B:-Expense
ealplaf

C:-Gain
@MSZo

D:-All of these
DAOQEI0

Correct Answer:- Option-B
Question95:-Depreciation is usually charged to
QEITDOEB 4] TVIWIREMWITS DDSILRM@ @6,

A:-Current asset
dlaalea @mug

B:-Intangible asset
@REUEYROW @RIV

C:-Fixed asset
adlgow’ @eaug

D:-Fictitious asset
B WBafle @oTLg

Correct Answer:- Option-C
Question96:-Branch Fixed Assets Accounts (In cases of Dependent branch) are maintained by?
Eosrl adlgauy @RIV @Re@MEE:US (@RWI® Eosmie MmadeaBEgl®d) adlaoalammmo?

A:-Branch
(eryosral’

B:-Transit branch
somavlg’ Enioeral

C:-Head Office
a0’ 830adlmy’

D:-None of the above
QBE@D AOFOMAIOWIMB. @8]

Correct Answer:- Option-C
Question97:-The maximum amount of capital that can be raised by a company is called?
@ BNl MVAOEE0M &M FRIWMOTIO® aleacaw] Do alglasm?

A:-Called up Capital
EBIUBW @R Hoaflomd

B:-Issued Capital
MRS GRIMo

C:-Uncalled Capital
@RGAISUEIT PRILMo

D:-Authorised Capital
@ooUTlR® Qaibme

Correct Answer:- Option-D
Question98:-The minimum number of directors of a Public Company is

B 6D HNMIQSS aBQQYo HOETID WROHABAOWOS af)fiRe @6,
A:-3
3
B:-4
4
C:-5
5
D:-6
6

Correct Answer:- Option-A
Question99:-What is SEBI?
agomoery SEBI?
A:-Securities and Exchange Board of India
6TBEIIM @MU ag@ieaieml enioday Boed amy
B:-Stock Exchange Board of India
GARIED )@y Galeral GnIodaU) 630a0 gD
C:-Share Exchange Board of India
6B af)@taleral enIoda’ Boad e
D:-None of the above
ABHEI AOFMAIOWIM. @05
Correct Answer:- Option-A
Question100:-Historical Cost Concept requires the valuation of an asset at
2B@alE20® alleial @RyUeEBITY -@ 8@ @rmudlen gaymldanw. @RI
A:-Market value
allatem] gaie
B:-Current value
mleialear gene
C:-Net realisation value
oMy JOeRIEIIUM Qalje
D:-Original cost
adledlmad aller
Correct Answer:- Option-D
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